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Review Unit IV

1. Supposs the IC) scorss of @ sample of collags students Eollow a normal distribution with a mesn of 115 end a
standard deviation of 12
Show all work and includa sketchas.

W) What is the proportion of students that heve en [Q scors laws than 997
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SO 9IE Students have an T Score 25S than 997
B) Whaet is the proportion of students that heve en I} scors betwesn 105 and 1207 '
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2 Complate the Following chart with the approprists symbele

|
Population §I||_pl:|
| Proportion P, B
Mlosn A
Standerd Dovation g\

(g




review Unit IV.notebook December 12, 2014

3. Comwider the BSP tasting whwrs . subjoct is aslcad to guose which of the Four cards in chossn. Probebility of
m—mmhh%-qzs) Each subjoct is prosontod with 40 cards. (n=40)

®) IFamubjact in just gusssing what doos the Cantral Limit Theorsm say sbout the sempling detribution of
the sampls propattion of correct responses? Repert the meon end stendord deviation of this distribution
ndd-mbuhlb--wdl (Bn wurs to chack the ssumptions For CLT al 00.)
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b) Dmnﬂho!‘ﬂluunplm:dmm B wura to labal the horizontal axis. [
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c) Calculats the probability of & sub i gudesing 35 %
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c)7 Explain, as well as find the now prebability.
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s) Based on your anewers to c) and ), in which cas » mors quprising if the subject got mors
than 33% corract? What conclusion could you malos about this mubject?
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4. Comsidor thw population of Amarican houssholds that purchess Christmuas prowsats, snd comsider U variable
“amount sxpactad b be speat on Christmes prewents s reported in lete Novsmber.” Suppose tha this

population has mesn 1= $850 and stenderd dewistion o= 3250
®) IF a rendom sampls of 5 boussholds is selacted, is it walid to ues the Ceatral Limit Theorem to describe
the vampling ibution of the sempls mesn? What if & sample of 300 houssholds in selactad?
Blpl:m _ \/ / ~ < 20
= cL T Aoesn ™ apply > [1<>C
oE= Noy AOD pPop. pProbably ,spT
— _ /
m—bﬁﬁw/eg/((‘/\qﬁp//Qszmago '/\0"}'15(/
k) What doos the Central Limit Theoram sey how the lo mean would very if samplas of size 500
f:ld::l;:uudwﬂ Roport the mesn and standard deviation of this distribution and describe its
shapo m
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6) Continue o asmsms’ &= 250, But reburn b not knowing the valus of 1. Wiing a seemple rosult of
w3900, for a

size of 300, croats un interval that conteing 5% of the possible parameter values
“thit voild-bave gonerated this sampie mesn
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